EARAZROREIERT — 2 N—XBISY —F 2014588 27H (k) 9EAFH3H

v >%—fk C1=m=& (w8 | imEmml - |5 5) oo 8
[A&4£] 1 7% :1,300,000 @ 23 :390,000 @ 337 :234,000  ~ 43#&:156,000 @ ~ 5 7 :130,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i 0| TSIy va >3 59?5352 1:(1_2).4 1-1 37.6| — 4 | 456 Eé?’if (R#)
RNTLZLT BRT b AU O | Tl
= . 5 | EREA 1:12.9 7-6 37.6| — 2 455 | EFEMS ()
2 4|Z7YTv b 54.0 @ 1/2) (3 |BEE
Ri*xfavR—-5— B:x/4YayFra— = 2]
T 4 3 | mEY 1:13.1 5-4 38.0| — 1 500 |H9BERZ (KFH)
3lglg| 771X 55.0 W (+3) | EEE
R:27)—>e—A— 8:3y h2R—- Eabie]
= 4 6 | BEZ 1:13.1 8-7 7.7 — 5 503 | Lshz (K#H)
4|11 | Fr=F>TL1s 5.0 (76 (o) | BNEL—EB
L F—TNRTPN—=F B:xv=A>Ta2/— Bllikae]
- - Hi5XH :13. - . — ERER (KH)
5 6| FTVFavI7 i 54.0 1(7135)2 22 5.4 8 <4+831) MERA
x4 TT BTN L1
- £ 5 | HEfE— 1:13.7 4-4 38.6| — 6 474 | 1BKEL (1K)
6 3 TIvT . g 56.0 2 1/2) +1) ;?&E%Z
L7 Rv14Y<vy 72 B:TJL>T74F 11— NETHS
< RAR : — — BEEEE (KH)
B S UEPTPEA e e A T | smEs
R:xA1=ZGr7—R B:77)2y bFa— HET7—L
5 B4 | EMAHIE 1:14.2 5-8 39.1| — 3 508 | EER (KH)
8|8|g| Yy hEX—N .0 @ 172 ey | 0 A=k
L:TNFINZL2 B:AF—¥IC b pulit e
. . 4 6 | RAS 1:14.6 2-3 39.8| — 9 472 | INAARES (Rdn)
9|55 b—tE>XZXZY7T 53,0 ) o |BIIkEx
L:77)—h B:757-427%~ Elskae]
® I—F—@EBIERL
13—-7-
23—7F—
3T—7— 2,(5,6),3,(8,9) ,4,1,7
43—+ — 2,6,5,(3,8),4,1,9,7
[ N5
-y 2 560M | | 71 K 2-4 490/ | | B = 2-4 1,280 | | 3:&4& 2-4-8 1,740
# B 2 160/ 2-8 490M B 2-4 2,680 EE 2-4-8 10,8004
4 130H4 4-8 260M B = 2-4 1,500
8 150 B H 2-4 3,280M

ABICOVWTRDTEEERROODE. TR LIV,




